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1. What will follow if a Money Bill is 3. Which one of the following pairs is

substantially amended by the Rajya
Sabha?

fa) The Lok Sabha may still
proceed with the Bill, accepting
or not accepting the recommen-
dations of the Rajya Sabha

(p) The Lok Sabha cannot
consider the Bill further

(c) The Lok Sabha may send the
Bill to the Rajya Sabha for
reconsideration

(d) The President may call a joint
sitting for passing the Bill

2. Which one of the following

statements is correct?

(a) In India, the same person
cannot be appointed as
Governor for twa or more
States at the same time

(b) The Judges of the High Court
of the States in India are
appointed by the Governor of
the State just as the Judges
of the Supreme Court are
appointed by the President

() No procedure has been laid
down in the Constitution of
India for the removal of a
Governor from his/her post

(d) 1In the case of a Union Territory
having a legislative setup, the
Chief Minister is appointed by
the Lt. Governor on the basis of
majority support

B-BRO-M-HTA/46A

correctly matched?

Geographical Region
Feature

(a) Abyssinian

Plateau : Arabia
(b) Atlas
Mountains : North-Western

Africa

() Guiana
Highlands : South-Western
Africa

(d) Okavango
Basin : Patagonia

4, With reference to the history of

Indian rock-cut architecture,
consider the following statements :

1. The caves at Badami are the
oldest surviving rock-cut caves
in India.

2. The Barabar rock-cut caves
were originally made for
Ajivikas by Emperor
Chandragupta Maurya.

3. At Ellora, caves were made for
different faiths.

Which of the statements given
above is/are correct?

(@) 1 only

(b) 2 and 3 only
fc) 3 only

(d 1,2 and 3
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1. 3R o9 ww Tl v fadws & @@

YA Fdt }, @ qeqwT ;= am?

(a) < |/, TG AW it rgeansit Ht
W R T IR W, W
fordgs @ o wrlaTd = g R

(b) <& T fadEs W am Ff ffEr
€ = wEwdt

(c) &= @ fads # EiER & fog
TG BT &) ST Tl ?

(d) tgufa fadas i ofm FA & forg
HYT A5% EA W HHAT &

2. fr=fafaa syt § @ F9-w1 & ad &7

(a) WA & T& € Afe F & @ awa d
A W ftw Tt F e fgw
& e s e

(b)) W@ H TSEl & Iv9 AMEHE &
TR T & T q P
R s &, % R @ R =
I & gEdy weefd g
fge R em &

(c) W@ & Hiawum # TwUE A WS
w® ® W #g W oft wfew
e 78 ?

(d) furfht sgaen T @u TsesT d

et A Fgfs swowswe T,
TgEa FAY & AR K, A It
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3. Prafifes quit # @ ¥ @ T

gafera ¥7

e e b et
(@) alFftwer : @

(b) TEEE 9Eq . Jae-gfid

(c) A = <fEo-ufied

(d) NwEm Rt ;. Yerifan

4. R RemEng F sfem & w=d #,

frafafaa wat w fomam Hifs

1. @t fi TeEd wra @i i
yafire daga e §1

2. WR A AHa THWE FEE TN
i g e ehfawt F fog

ams E off |

3. e d, et Rfm ol % R
7§ ¥ of|

I FUAl A A BA-|1/Q qE R/E?

(@) Fa4 1

(b) Faw 23R 3

c) ¥ad 3

(d) 1,23NR3
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5. Recombinant DNA technology

(Genetic Engineering) allows genes
to be transferred

1. across different species of
" plants

2. from animals to plants

3. from microorganisms to higher
organisms

Select the correct answer using the

codes given below.

(a) 1 only

(b) 2 and 3 only
{c) 1 and 3 only
(d 1,2 and 3

6. The Chinese traveller Yuan Chwang

(Hiuen Tsang) who visited India

recorded the general conditions

and culture of India at that time. In
this context, which of the following
statements is/are correct?

1. The roads and river-routes
were completely immune from
robbery.

2. As regards punishment for
offences, ordeals by fire, water
and poison were the
instruments for determining
the innocence or guilt of a
person.

3. The tradesmen had to pay
duties at ferries and barrier
stations.

Select the correct answer using the
codes given below.

a) 1 only

(b)) 2 and 3 only
fc) 1 and 3 only
(d 1,2 and 3

B-BRO-M-HTA/46A

Consider the following :

1. Star tortoise
2. Monitor lizard

3. Pygmy hog
4, Spider monkey

Which of the above are naturally

- found in India?

(a) 1, 2 and 3 only
() 2 and 3 only
fc) 1 and 4 only
d 1,2, 3 and 4

8. Which of the following can be found

as pollutants in the drinking water
in some parts of India?

1. Arsenic
2. Sorbitol
3. Fluoride

4. Formaldehyde

5. Uranium

Select the correct answer using the
codes given below.

fa) 1 and 3 only

(b) 2, 4 and 5 only

fc) 1, 3 and 5 only

d 1,2 3,4and 5

9, With reference to Indian History,

the Members of the Constituent

Assembly from the Provinces were

(a) directly elected by the people of
those Provinces

(b) nominated by the Indian
National Congress and the
Muslim League

(c) eclected by the Provincial
Legislative Assemblies

(d) selected by the Government
for their expertise in
constitutional matters
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5. ¢ DNA Wil (el
Thifad) siEt # wrraia 8 2

1. i & faftm sfoat &
2. gt & di
3. qEeiaEt @ I stat &

MR Ry T = = W W Eh W
ghwl

(a) ¥ 1

b Fa23d3

(c) F¥a= 133

d 1,233

6. WRA N I FA q A+ e gamm =m
(% wT) Y dewrel G B W
Twait o Wl w1 ol e d) W
g #, frafafes & @ ¥F-@1/Q F=
wét R/%7
1. gs® 3R 7-url em } @ @
giiEa 9

2. el 7% Il & fog v 1w
R, of, s 3 Ry T wwdan
e s @ el ot wfe &
fetrm svar Aw & fFolg F wmem
ol

3. =uiEt & el ik T gew
1 9 1|

. R Ry m =7 &1 W W wdft IW
g
(@) ¥ 1
() ¥Faw 23R 3
) ¥ 13R3
d 1,233

o
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7. frafafee w fEr fifsg .

1. a7 g

2. uiHe fosweht

3. oA W

4, WES AT

Id® ¥ @ FH-7 wRa § wfos w9 &
g, e &7

(@ ¥ 1, 233

(b) Faw 233

(c) ¥aa 134

d 1,2 334

8. f=fafen &% @ AR-3 wra & g wmil &

i F 9w # gy % ®9 § g I &
1. s

2. WRfwE

3. RS

4. Gmifceess

5. Rfam

M Ry W F w1 W W af IW
|

(a) ¥Faa 133

) ¥« 2, 4305

fc) ¥ 1,335

(d 1,2, 3, 43R5

9. W 3fe ¥ w= &, w=l A dflum

o ¥ g

(a) 3 Wit & @t g @ Paffaa g
9

(b) v e s T gfem o
T e g &

(c) W faam et T Faffa g
9

(d) T&ER TN, HauPE el § 3R
g & g P 2
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10. Consider the following animals :

1. Sea cow
2. Sea horse
3. Sea lion

Which of the above is/are
mammal/mammals?

(a) 1 only

() 1 and 3 only
(c) 2 and 3 only
(d 1,2 and 3

11. Consider the following statements :

1. An amendment to the
Constitution of India can be
initiated by an introduction of
a bill in the Lok Sabha only.

2. If such an amendment seeks to
make changes in the federal
character of the Constitution,
the amendment also requires
to be ratified by the legislature
of all the States of India.

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

¢/ Both 1 and 2
(d) Neither 1 nor 2

12. Consider the following statements :

Attorney General of India can

1. take part in the proceedings of
the Lok Sabha

2. be a member of a committee of
the Lok Sabha

3. speak in the Lok Sabha
4. vote in the Lok Sabha

B-BRO-M-HTA/46A
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Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 and 4

fc) 1,2 and 3
(d) 1 and 3 only

13. With reference to the usefulness of

the by-products of sugar industry,
which of the following statements
is/are correct?

1. Bagasse can be wused as
biomass fuel for the generation
of energy.

2. Molasses can be used as one
of the feedstocks for the
production of synthetic
chemical fertilizers.

3. Molasses can be used for the
production of ethanol.

Select the correct answer using the
codes given below.

fa) 1 only
(b) 2 and 3 only

(¢/ 1 and 3 only
(d 1,2 and 3

14, Variations in the length of daytime

and nighttime from season to
season are due to

fa) the earth’s rotation on its axis

(b) the earth’s revolution round
the sun in an elliptical manner

(c) latitudinal position of the place

(d) revolution of the earth on a
tilted axis
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10. fF=fafaa sgaft = e i

1. 9™

2. WA A

3. ws fae

I 3 A FH-T1/A wAuTh }/E?
(@) Fae 1

(b) *aw 1 AR 3

(c) Faw 23R 3

d 1,233

11. Frafafaa wwEl w fa=m fifs

1. ¥TE % @faym § 9eue ¥Fead aw
% ww s e g\
& e TR < wear B

2. IRk Ymn d@eve d@fum §F g s fa
# qftada i oft F=x@r R, @ @
H HIEAH WRA & @t T &
fyrvew T e s oft
IEEF B

I FuAt § A FE-T1/Q T R/

(a) &ad 1

(b) w2

(c) 1323

d ad1dmad2

12. Frafafes se w fer fift .

WA 1 HEAEETE

1. < g @ FrEiad & v @ g
?

2. @ aur & et oftfa &1 aew @
T &

3. o a1 & 91 gehar @
o g1 #§ HaeH = HHhaT §
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I FYA § /A FA-|1/F T R/E?
fa) ¥aa 1

(b) 234

fc) 1,233

(d) ¥« 1 3R 3

13. U I & N Y I F ar

#, frafafgs 4 @ $F-@1/8 s @

2/

1. @ #, FAi I & fow @ o
A 3 w9 & wgw fF 1w @)

2. IR N, FhHw ToEtE JFHE F
IO & foe w wu-wiE i mz
g R s wwan R

3. ¥R #N, Al IO F e g
far = g 1

R Ry T F w WM W @ W
gf)

(a) ¥ad 1

(b) Faw 2 3w 3

(c) Faa13dR3

(d 1,23r3

14. ¥em-em wgd § fA-wwm o ofa-

e & fawr # faftmer fom @ror @
A 87

(@) 9= 3G Ay W YA

) vt &1, gd F 9wt 3 ddgea
Bfa | vfgmm

(c) &t agea el
(d) 9w F T@ 3G T I

[P.T.O.
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15. The Narmada river flows to the west, 18. Consider the following :

while most other large peninsular
rivers flow to the east. Why?

1. It occupies a linear rift valley.

2. It flows between the Vindhyas
and the Satpuras.

3. The land slopes to the west
from Central India.

Select the correct answer using the

codes given below.

(@) 1 only
() 2 and 3
(c) 1and 3
(d) None

16. On the planet earth, most of the

freshwater exists as ice caps

and glaciers. Out of the remaining
freshwater, the largest proportion

(@) is found in atmosphere as
moisture and clouds

(b) is found in freshwater lakes
and rivers

(c) exists as groundwater

{d) exists as soil moisture

17. Consider the following pairs :

1. Nokrek Bio-
sphere Reserve : Garo Hills

2. Logtak (Loktak)

Lake : Barail Range
3. Namdapha

National Park : Dafla Hills

Which of the above pairs is/are
correctly matched?

(@) 1 only

(b) 2 and 3 only

fc) 1,2 and 3

{d) None

B-BRO-M-HTA/46A

1. Electromagnetic radiation
Geothermal energy
Gravitational force

Plate movements

Rotation of the earth

. Revolution of the earth

Which of the above are responsible
for bringing dynamic changes on
the surface of the earth?

(a) 1, 2, 3 and 4 only

(b) 1, 3,5 and 6 only

fc) 2,4,5 and 6 only

d 1,2 3,4,5and 6

Om W

19. Which of the following bodies

does not/do not find mention in
the Constitution?

1. National Development Council
2. Planning Commission

3. Zonal Councils

Select the correct answer using the
codes given below.

{a) 1 and 2 only

(b} 2 only

(c) 1 and 3 only

(d 1,2 and 3

20. The demand for the Tebhaga Peasant

Movement in Bengal was for

(a) the reduction of the share of
the landlords from one-half of
the crop to one-third

(b) the grant of ownership of land
to peasants as they were the
actual cultivators of the land

(c) the uprooting of Zamindari
system and the end of serfdom

(d) writing off all peasant debts
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15. T @ ofyg AN o aEd R, SwiE

st =y w9 ARl @ f

AN Tt &1 T w7

1. I & wWE fnw (fe) o #
Tt R

2. 77 fren aiv wager & o9 @@ 21

3. 9t %1 g&F 9 wRa @ ufim &
3R

M Ry m gz & W@ W FH IW

e

(@ Fad 1

() 233

) 13M3

(d) w7

16. gedt U8 W, Afuwiv rerau-se, 9% IA

AR fore & w9 # war }1 AW SerEuI-

Ve H1 gad 3fes wm

(a) IFEUEH A AT IR Tl F ®9
3§ g e R

(b) FITEU-IE el o ARt d amn
et &

(c) wfrma e FwqdR

(d) &1 & & w9 A B

17. FafaRas gt w fem fifvg

1. NF® Sagved figd : T

gerteat
2. AreH (diwew) e ;a8
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verfeat

3w gw # } FH-8/A v g

r/&

fa) 9 1

(b) Faw 2 33

) 1,23R3

(d) r§ T
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18, Fafafaa w far $ifsw .

AT S
Tecd1g o

@2 e
gt &1 ot

. g = REE
IEw 7 A FH-8 et & g8 W e
qRad @ F fog Rndan &7
(@ ¥aw 1, 2, 334
() ¥ 1, 3,536
fc) ¥ae12, 4, 536
d 1,2 3, 4 536

A o

19. Frafafea & & e Pam /e Fert @

wfaum & g@ Tt 27
1. M faem afeg
2. T I
3. &fig qfted

R Ru 7 =1 W W ad IW
k(g

(@) Faw 1 3R 2

(b) FEa 2

(c) ¥ad 133

(d 1,23R3

20. e ¥ v frem amRem Y == A

fi?

(@) wflert i R A woa & 3m
T A WS H-faed F

() W + Tafdw Bfw TR F T,
-EIfiE IS H T—H FAT

(c) IR o 1 IEA a1 HivgTHA
F1 3=

(d) FIR F THE FOU H T FEA

[P.T.O.
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21. The Parliament can make any law 24. Contour bunding is a method of soil
for whole or any part of India for conservation used in
implementing international treaties

(@) with the consent of all the ) )
States (a) desert margins, liable to strong

wind action
(b) with the consent of the
majority of States

(b) low flat plains, close to stream

(c) with the consent of the States courses, liable to flooding

concerned

(d) without the consent of any

State (c) scrublands, liable to spread of
weed growth

22. In the grasslands, trees do not
replace the grasses as a part of an
ecological succession because of (d) None of the above

fa) insects and fungi

(b) limited sunlight and paucity of

nutrients 25. The Government enacted the

Panchayat Extension to Scheduled
Areas (PESA) Act in 1996. Which
(d) None of the above one of the following is not identified
as its objective?

(c) water limits and fire

23. Which one of the following is the
correct sequence of ecosystemns
in the order of decreasing {a) To provide self-governance
productivity?

(a) Oceans, lakes, grasslands,

T ize traditional right
nan es (b) To recognize itional rights

(b) Mangroves, oceans, grasslands,

lakes {c) To create autonomous regions

in tribal areas
(c) Mangroves, grasslands, lakes,

oceans
(d) Oceans, mangroves, lakes, (d) To free tribal people from
grasslands exploitation

B-BRO-M-HTA/46A 10
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| 21. §Wg, FEE WGl ® wra & et wm
| Jya1 gl wRa # @) FA F feg, w
ft S w1 Tt R

(a) @t Tt it genfa @

(b) ugEEE T it wgwla A

(c) wrafya Tl ) wenfy @

d) T fedt oo i gemfa @

22. et § gy TRRuRE JgFEEw & W
¥ &9 # fom Fww gl A wfowfa @
w1 &7
(@) I @ FaHt F IO

(b) Hiftm gd & v @ NS aal hit
Fft F FRor

(c) & 6t dmaft wd 3 F FEw

(d) 3% & @ #§ e

23. qfEal f gedfl IaEHa F FH § FH
frafofas & @ F9-w sgewn wd &7

(a) TEETR, ¥, g, fe
(b) TuiE, TEETR, TEEE,
(c) Toa, arERyw, e, TEETR

(d) vEmTR, foa, 3w, aree
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24. y-w&w H qRiar quq iy @ v wwl

& fora gren 27

(a) Yo 994 R & onfiR W% 39T

(b) & var@ & afawe F1, U B
aren, o awas AeE

(c) PN F TG Sem N TEET @
I Tod

(d) 39gw & @+ T

25. &R 4 IgglEa & # uumEa faww

(PESA) sffuffam Y 1996 # arfufafia
| ffafen 4 @ $9-T1 @ 36
e F w9 # g ff 27

‘(@) TEAEA TEH HEH

(b) e rfRY S AT 3

(c) T &3 # wrw &t @ P
FAT

(d) SASTER ST H W60 § GF FOA

[P.T.O.
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26. Under the Scheduled Tribes and
Other Traditional Forest Dwellers
(Recognition of Forest Rights) Act,
2006, who shall be the authority to
initiate the process for determining
the nature and extent of individual
or community forest rights or both?

fa) State Forest Department

(b) District Collector/Deputy
Commissioner

(c) Tahsildar/Block Development
Officer/Mandal Revenue Officer

(d) Gram Sabha

27. Improper handling and storage of
cereal grains and oilseeds result in
the production of toxins known as
aflatoxins which are not generally

destroyed by normal cooking
process. Aflatoxins are produced by

(a) bacteria
(b) protozoa
(c) moulds
(d) viruses
28. ‘Economic Justice’ as one of

the objectives of the Indian
Constitution has been provided in

(a) the Preamble and the
Fundamental Rights

(b) the Preamble and the Directive
Principles of State Policy

(c) the Fundamental Rights and
the Directive Principles of State
Policy

(d) None of the above

B-BRO-M-HTA/46A
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29. Due to improper/indiscriminate

disposal of old and used computers
or their parts, which of the following
are released into the environment
as e-waste?

1. Beryllium
Cadmium
Chromium
Heptachlor
Mercury
Lead

N o 0 s N

Plutonium

Select the correct answer using the
codes given below.

fa) 1, 3, 4, 6 and 7 only

() 1,2, 3,5 and 6 only

fc) 2, 4,5 and 7 only

d 1,2, 3,4, 5 6and 7

30. Acid rain is caused by the pollution

of environment by
fa) carbon dioxide and nitrogen

(b) carbon monoxide and carbon
dioxide

{c) ozone and carbon dioxide

(d) nitrous oxide and sulphur
dioxide
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26. YA AW W@ I TS FFErh

(= it & wr=ren) fufam, 2006
& afm, =afem o aEfdE &
sftrt srvan 31 it wpfa w@ fem &
futm A sfrr N o FT@ F o
1 wiftrrd gm?
(@) T T v

(b) Toren Ferer/agw

(c) EdieRr/avs fAwm After/
HUgH o ATt

(d) T QW

27. ¥t 3R foee & sgwgw TEwEE IR

wugo F qiumrEey anfaet &1 I
B 2, R svemefa & 9 ¥ 9=
I R, S EWTE: WSH @9 6 3m
faftr g 2 4 AR SRR FaE
T 3T B &7

(a) SfaETg

(b) WA

(c) wEH

(d) fammy

28. VA S ERUYR S RW A A E F & &

‘anffs =’ =1 ol Stey e
27

(@) IR 3R q@ AftEr

(b) R M v K A F R
o

c) ¥@ dt@r R g f A F
Ry o=

(d) 39w # | feet 7
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29. TR 3R WE FYA WM FF & F

Juma/yeafem faem & Fww,
frafafigs & @ #9-7 §-omfie F w9 &
qatare & fnfw @ &7

N O AW -

N Ry M = & W@ W @ TN
EEN

fa) a1, 3, 4, 6 3 7
() Fa1, 2, 3, 536
(c) Fae2, 4,537

d 1,2, 3,4,5 637

30. 3 Il foFa B0 B A wIiRT SgE

& FHr Bt 27
(@) FEA TRATFATES AR AFISH

(b) FEA WN-FTFFE AN FEA =B-
AHTFETES

(c) 3 R FEA TRTFTEE

(d) Tgga  Alemme M wEw
TRRATTEES

[P.T.O.
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31. With reference to food chains in
ecosystems, consider the following
statements :

1. A food chain illustrates the
order in which a chain of
organisms feed upon each
other.

2. Food chains are found within
the populations of a species,

3. A food chain illustrates the
numbers of each organism
which are eaten by others.

Which of the statements given
above is/are correct?

(@) 1 only
(b) 1 and 2 only

fc) 1,2 and 3
(d) None

32. Consider the following pairs :

National Park River flowing
through the
Park
1. Corbett
National Park : Ganga
2. Kaziranga

National Park : Manas

3. Silent Valley
National Park : Kaveri

Which of the above pairs is/are
correctly matched?

(@) 1 and 2

(b) 3 only
c) 1 and 3
(d) None

B-BRO-M-HTA/46A
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33. Consider the following organisms :

1. Agaricus
2. Nostoc
3. Spirogyra

Which of the above is/are used
as biofertilizer/biofertilizers?

fa) 1 and 2
(b) 2 only
(c) 2and 3
(d) 3 only

34. Which of the following adds/add

nitrogen to the soil?

1. [Excretion of urea by animals
2. Bumning of coal by man

3. Death of vegetation

Select the correct answer using the
codes given below.

(a) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

35. In which of the following States is

lion-tailed macaque found in its
natural habitat?

Tamil Nadu
Kerala
Kamataka
Andhra Pradesh

Select the correct answer using the
codes given below.

fa) 1, 2 and 3 only
(b) 2 only

(¢ 1, 3 and 4 only
(d 1,2, 3 and 4

OO0~
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31. vl # @@ Faensit F e d,
Frafofaa ot w fam i
1. @M Fadl 39 w8 & e w

3, fogdt Sl 1 & FE @@
F 3men g fda @ 21

2. @ FEel Tk aid N g F
a=ria qrg STl 2

3. WH gEdl W YAE A A
wEAl &1, S @l F FR @rd et
£, frexfa &l 21

I FoEl § ¥ FA-A/8 w9 2/ET
(@) Fad 1

(b) Faa 1 3R 2

) 1,23R3

(d) *IE

32. fr=ferRaa gt w faar fifs
g IaA IR |
g T T

1. & THE 3T s T
2. HEWRMUEI IWH : BAEW
3. Wﬁ?ﬁ'ﬂﬂﬂ : FE

I

Iwfw et # @ FA-w/R w@ giR
2/&7

(@) 1 3R 2
(b) ¥ 3
(c) 13Mm3
(d) r§
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33. Fefafiaa et w fa=m fifs

1. ofiEE
2. Aet®

3. wWEITRT

I § A -9/ 99 IdE F w9 F
g gl R/F &7

(@ 132

(b) %A« 2

) 233

(d) a4 3

34. fafafaa # @ FF-w/a, ga & aEgeA

 agrn B/ #7
1. g g i &1 Iee
2. WIE TR FEA H T
3. FAEfa H 5y

M Ry m Fz & W W @ ITW
gfu|

(@) a4 1

(b) a2 3R 3

c) Ha= 13N 3

[d) 1,23Mm3

35. frafafes vl & | e /e Ri-g=at

TR () 39 TPfas ard | 9w
ST 27

1. dfteETg

2. WA

3. FAleH

4. Y WRW

R Ry m Fz &1 w@m W @ IW
gfml

@) Fad1, 233

(b) ¥ 2

) ¥Faa1, 334

[d 1,2 334
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36. Some Buddhist rock-cut caves are
called Chaityas, while the others
are called Viharas. What is the
difference between the two?

(a) Vihara is a place of worship,
while Chaitya is the dwelling
place of the monks

(b) Chaitya is a place of worship,
while Vihara is the dwelling
place of the monks

fc) Chaitya is the stupa at the far
end of the cave, while Vihara is
the hall axial to it

(d) There is no material difference
between the two

37. Which one of the following describes
best the concept of Nirvana in
Buddhism?

(a) The extinction of the flame of
desire

fb) The complete annihilation of
self

(c) A state of bliss and rest
(d) A mental stage beyond all

comprehension

38. According to the Constitution of
India, which of the following are
fundamental for the governance of
the country?

(@) Fundamental Rights
(b) Fundamental Duties

(c) Directive Principles of State
Policy

(d) Fundamental Rights and
Fundamental Duties

B-BRO-M-HTA/46A
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39. The people of India agitated against

the arrival of Simon Commission
because

(a) Indians never wanted the
review of the working of the
Act of 1919

{b) Simon Commission recom-
mended the abolition of
Dyarchy (Diarchy) in the
Provinces

(c) there was no Indian member
in the Simon Commission

(d) the Simon Commission
suggested the partition of the
country

40. Quit India Movement was launched

in response to

(a) Cabinet Mission Plan

(b) Cripps Proposals

(c) Simon Commission Report

(d) Wavell Plan

41. The balance of payments of a

country is a systematic record of

fa) all import and export
transactions of a country
during a given period of time,
normally a year

(b) goods exported from a country
during a year

(c) economic transaction between
the government of one
country to another

(d) capital movements from one
country to another
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36. 39 YoFa de TER F I FE E 39. ag FvA & aN F fowq wdia sA-
s 3= 1 fagwr 2 & w0 am R7 e Fi gan?
(@ fEr - dw R, T@fF S (@ v, 1919 % ofufem &
g frgait 1 Framem R FrlaTd 1 grtemr wft TE =ed &
(b) AW - a1 B, vEfH faEn (b) g%ﬁﬁﬂmﬁ
g frggatt = Famoem @
(c) uEA Fefte § F ot W we
(c) ¥ THE F P> W W =y & g, &
e fEn o W el wa am R
(d) EEF FHEE 3 W F fomem w
(d) ﬁﬂﬁwﬁﬂﬁﬁm gg]aﬁmm

37. Frefefes § @ @F-T w dg T 3 40. WWa B1S e e wfafwa & wow

Frafon 1 s ) wdAE SATE ww Fem vt

# (a) ¥Rz R Qs

(@) ToTEd AH F WA (b) Torm v

(b) T H qUia: A (c) Wg wem fedrd
(d) F_S F=

(c) o= wa fasm & feafa

(d) WO Wi 3aw PO e —

afirera &7
38. W@ ¥ wRUE % mEn fefuRe § @ () Wﬂw;%m
-9, WM F ¥ firg amumoqm ¥7 T ,
" SRS ! aiv fata &1 -3
@ & () B d & o 3w T Praia A
(b) T FdA Feqd
() T W H war i @ W #
(c) T Hfa F Fees a= T 3 e s -3
(d) vF SUHR q W e (d) WA TR AW A R F d=en
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42. The Reserve Bank of India regulates 45. Which of the following characterizes/
the commercial banks in matters of characterize the people of Indus
Civilization?

1. liquidity of assets
1. They possessed great palaces

branch expansion and temples.

2
3. merger of banks 2. They worshipped both male
4

winding-up of banks and female deities.
Select the correct answer using the 3. They. employed  horse-drawn
codes given below. chariots in warfare.

Select the correct statement/
statements using the codes given

(b) 2, 3 and 4 only below.

fa) 1 and 4 only

c) 1, 2 and 3 onl
@ oy fa) 1 and 2 only

d 1,2, 3 and 4

(b) 2 only
43. An increase in the Bank Rate () 1,2 and 3
generally indicates that the
(a) market rate of interest is likely (d) None of the statements given

to fall above is correct

(b) Central Bank is no longer
making loans to commercial 46. Which of the following diseases can

banks be transmitted from one person to
another through tattooing?

1. Chikungunya
2. Hepatitis B

() Central Bank is following an
easy money policy

(d) Central Bank is following a
tight money policy 3. HIV-AIDS

Select the correct answer using the
44. In India, deficit financing is used for codes given below.
raising resources for

(a) economic development (a) 1 only

(b) redemption of public debt (b) 2 and 3 only

(c) adjusting the balance of
payments

(d) reducing the foreign debt (d 1,2 and 3

(c) 1 and 3 only

B-BRO-M-HTA/46A 18


Sunil Kumar
General Studies - 2013                  studyfry.com


General Studies - 2013

42. Prafafgs & @ -2 Amel 7 WREE

fod ¥ st a5 ® Fafa s
27

1. uftewfaat it o

2. @ fawm

3. =% % faew

4, ! F GEAGA

2 R g W oW W Fd IW
gh|

(a) a1 3 4

(b) Faw 2, 3 AR 4

(c) Faw11, 23R 3

d 1,2 334

43. &= T A e G=E: W T F dHha 8

&
(@) = H TR R F A At gmE

?

(b) ¥ &% 3@ AT FHt B F
R

(c) 3 d& wedht gz Aifa F1 agEw
=@ R

(d) ¥ ¥ wdh gz A = sgEm
LIRS

44. W@ ¥ W A Rn =een R R

waTeE! # agn & fog 3w & w27

(d) faeht o 0 FA F foag
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45. frafaflaa # @ «F-w/a8 @gu ey

o e F Al & ' e W {/Fa
&
1. % fawmer wew of wfRy 2@ 21

2. 3 Wi 3 i, A i @En
A 2|

3. 3 3zg # A%l g @R ™ @
T 0 9

N Ry m g F W W @ A/
FyAt & gl

(@) Faa 1 3R 2

(b) ¥ad 2

¢ 1,233

(d) 3 syt # § F oft vl T R

a6. Frafifaa dmidt # ¥ - ¥ TR

¥ gU o e A g Afe § §9Ra @
aad! 8/87

1. T
2. IFHaNy B
3. HIV-AIDS

f9 Ru m 2 & W@ W F@ IN
gl

(@) Fa41
(b) ¥a@ 2 33
¢ Faa 133

@ 1,233
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47. Which of the following statements 49. Photochemical smog is a resultant of
is/are applicable to Jain doctrine? the reaction among

1. The surest way of annihilating

Karma is to practice penance. (@ NO,, O3 and peroxyacetyl
nitrate in the presence of
2. Every object, even the smallest sunlight
particle has a soul.
3. Karma is the bane of the soul (b) CO, O, and peroxyacetyl
and must be ended. nitrate in the presence of
sunlight
Select the correct answer using the
codes given below. (e CO, CO, and NO, at low
temperature
(a) 1 only (d) high concentration of NO,,

O; and CO in the evening

(b) 2 and 3 only

50. Consider the following minerals :
(c) 1 and 3 only

1. Calcium
(d 1,2 and 3 2. Iron

3. Sodium

48. Which one of the following terms ) _ _

describes not only the physical Which of the minerals given above
space occupied by an organism, is/are required by human body for
but also its functional role in the the contraction of muscles?
community of organisms?
(a) Ecotone (a) 1 only
(b) Ecological niche (b) 2 and 3 only
(c) Habitat fc) 1 and 3 only
(d) Home range (d 1,2 and 3
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47. ffaflaa # @ F9-w/8 s@ A e
& rEY 8/

1.

4 # fE 7 w1 ghfim ool
aagat R

TF I #, A T@ YEIAH F0 9,
T Bt 21

4 A F1 s @ el sEw
TEH A< FA I

= Ry M F F WM W @ IN
Ll

(@ Fa 1

(b) Fa@ 2 3 3

(c) Fas 133

d 1,23M3

48. frefafaa § @ FF-T1 @ w©, Faa A
T o R R Regem w1 @ T,
afcr el ¥ wgEE ¥ e FEiew
vt &1 oft qof e 27

(a) G ($HIEH)

(b) uiitfes Fdm

fc) AT

(d) ETE-8F
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49, THEW-TOERE Y0 & @ e dfie
wfifimar &1 afomm g 27

(a)

(b)

(c)

(d)

NO,, 0, Ay Tetfafe e
% dr9, gd & v it feufa #

CO, 0, W WedRfRa e
& 9, @ & v & Jufeufa &

CO, CO, @ NO, & ¥4, f=
LR

NO, & 3= ®igW, O; @ CO %
=, T % ¥

3% afet & @ are wiv § W &
g & fau foredhi /el smavasm
Bt /&7

(@) ¥4 1

(b)

(c)

Fad 2 3R 3

Fad 1 3 3

d 1,233
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§1. Consider the following statements :

The Parliamentary Committee on
Public Accounts

1. consists of not more than
25 Members of the Lok Sabha

2. scrutinizes appropriation and
finance accounts of the
Government

3. examines the report of the
Comptroller and Auditor
General of India

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 and 3 only
¢/ 3 only

(d 1,2 and 3

52. Consider the following Bhakti Saints :

1. Dadu Dayal
2. Guru Nanak
3. Tyagaraja

Who among the above was/were
preaching when the Lodi dynasty
fell and Babur took over?

fa) 1 and 3
(b) 2 only

(c) 2 and 3
(d 1 and 2

53. With reference to the food chains in

ecosystems, which of the following
kinds of organism is/are known as
decomposer organism/organisms?
1. Virus
2. Fungi

3. Bacteria

22
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Select the correct answer using the
codes given below.

{a) 1 only

(b) 2 and 3 only
¢/ 1 and 3 only
(d 1,2 and 3

54. The most important fishing grounds

of the world are found in the
regions where

(a) warm and cold atmospheric
currents meet

(b) rivers drain out large amounts
of freshwater into the sea

fc) warm and <cold oceanic
currents meet

(d) continental shelf is undulating

5§5. Which of the following is/are unique

characteristic/characteristics of
equatorial forests?

1. Presence of tall, closely set
trees with crowns forming a
continuous canopy

2. Coexistence of a large number
of species

3. Presence of numerous varieties
of epiphytes

Select the correct answer using the
codes given below.

fa) 1 only

(b) 2 and 3 only
fc) 1 and 3 only
(d 1,2 and 3
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51. fafefaa Fual w fa=m fife .

i o 6 geda affy

1. &% 3w & aftean 25 wewt @
nfa At ®

2. @R F At au fm et it
wifa et R

3. Wd & Pruw-meeawias
¥ i wifg =l @

I FuEl & @ FE-A/@ v /A

(@) Faa 1

(b) Faw 2 3R 3

(c) ¥« 3

{d) 1,23R3

52. FPrafafiga ufs =t w fa=mm fifvw

1. I/

2. TEAH

3. WS

T A FF I UG IR @ 91/
& A 9 F Yo g1 qU1 STl qOeg
gan?

(@ 133

(b) FaE 2

(c) 233

d 132

53. Wi # @ gEensd & w #,
frafafas & ¥ fFm wr #1/3F A
HYUTH A FEaTar §/FHEe 87

1. faumg

2, 9%

3. SfEmg
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R R m = &1 WM =W F@ IW
R

(@) Fad 1

(b) Faw 2 3 3

(c) Faa 133

(d 1,233

54. TUR ¥ waifts HEEqUl Hed &9 37 &=
% g o &, St

(@ ¥ qu wfa agEveeE wnd
firerel

(b) ARl |rdl # R W A ann S
yafEd &l &

(c) e qor wia arrE umd ferdt &
(d) WETEE Wew aifia R

55. fifafgs # @ #¥9-H, fgadim a5t f
arfeeta fadtwan B/ fdward 87

1. 3R, N g f frommm fes
e e farem a9 &

aga-H sfedt 1 wE-AfEE @
Ifmedt N wwm et
e @

= ffu T F & WM W IW
ke

(@) Fa 1

(b) ¥ad 233

fc) Fa« 13N 3

{d 1,233
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§6. Which of the following constitute §8. With reference to the history of

Capital Account?

1. Foreign Loans

2. Foreign Direct Investment
3. Private Remittances
4

Portfolio Investment

Select the correct answer using the
codes given below.

fa) 1,2 and 3
() 1, 2 and 4
fc) 2, 3 and 4

(d) 1,3 and 4

5§7. Consider the following historical
places :

1. Ajanta Caves
2. Lepakshi Temple
3. Sanchi Stupa

Which of the above places is/are
also known for mural paintings?

(a) 1 only
(b) 1 and 2 only
(c) 1,2 and 3

(d) None

B-BRO-M-HTA/46A

philosophical thought in India,
consider the following statements
regarding Sankhya school :

1. Sankhya does not accept
the theory of rebirth or
transmigration of soul.

2. Sankhya holds that it is the
self-knowledge that leads to
liberation and not any exterior
influence or agent.

Which of the statements given
above is/are correct?

{a) 1 only
{b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

59. In the context of India, which of the

following principles is/are implied

institutionally in the parliamentary

government?

1. Members of the Cabinet are
Members of the Parliament.

2. Ministers hold the office till
they enjoy confidence in the
Parliament.

3. Cabinet is headed by the Head
of the State.

Select the correct answer using the
codes given below.

fa) 1 and 2 only
(b) 3 only
fc) 2 and 3 only

(d 1,2 and 3
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56. Ffafaa 4 @ F9-3 S @ H =

Fa 87

ferdeft o
wege faReft faw
fasht Aea w=
qiéwfera fam

nollE S

R Ry M F= W W@ W FE IN
E R

(@ 1,233
() 1,23M4
c) 2,334

d) 1,334

57. Fefofen Yfrefes wet w e fifs

1. o A T
2. wwE "R
3. wi<l =@

I el § @ aE-wr/a fufa e
F foru oft s S @/9 9 &7
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58. W@ # Iifas fEm & sfew & =y

§, i weE ¥ gEtua el

mﬁmﬁﬂ#ﬁm:

1. §iEg W 91 AT F IErTEE &
frgra = @i T8 Fa R

2. W@ N wEa § T oamew- e @
Ty F 3R A s R A R FE T
UWTE YT FRH |

0w FyAl § ¥ PE-A/W T R/ET
(@) Fad 1

(b) A 2

(c) 1 323t

d ad1mad2

59. Wid & w=¥ ¥, TEdw wEe-yorefl #

frefefas & @ #7-w/] fagma geurm

wq 1 ffea #/%7

1. wfvved ¥ we9 GEg & wed '
{

2. W& d% HfAEl ® §ag 1 fFww yw
EARAEdH @ 3 3T 78 WA
T g
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kG

(@) Faa 132
(b) =« 3
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60. The annual range of temperature in

the interior of the continents is high
as compared to coastal areas. What
is/are the reason/reasons?

1. Thermal difference between
land and water

2. Variation in altitude between
continents and oceans

3. Presence of strong winds in the
interior

4. Heavy rains in the interior as
compared to coasts

Select the correct answer using the
codes given below.

(a) 1 only

(b) 1 and 2 only
fc) 2 and 3 only

(d 1,2, 3 and 4

61. Which of the following is/are the

characteristic/characteristics of
Indian coal?

1. High ash content
2. Low sulphur content

3. Low ash fusion temperature

Select the correct answer using the
codes given below.

(a) 1 and 2 only

(b) 2 only

fc) 1 and 3 only

(d 1,2 and 3

B-BRO-M-HTA/46A
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62. Which of the following statements

regarding laterite soils of India are
correct?

1. They are generally red in
colour.

2. They are rich in nitrogen and
potash.

3. They are well-developed in
Rajasthan and UP.

4. Tapioca and cashew nuts grow
well on these soils.

Select the correct answer using the
codes given below.

(a) 1,2 and 3
(b) 2, 3 and 4
fc) 1 and 4

(d) 2 and 3 only

63. Consider the following statements :

1. Natural gas occurs in the

Gondwana beds.

2. Mica occurs in abundance in
Kodarma.

3. Dharwars are famous for

petroleum.

Which of the statements given
above is/are correct?

(@) 1 and 2
(b) 2 only
(c) 2 and 3

(d) None
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60. WEEIUI ¥ Il & afiE ag-9REt
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(@ ¥aa 132
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64. Consider the following crops : 67. Disguised unemployment generally
1. Cotton IMCans
2. Groundnut
3. Rice (a) large number of people remain
unemployed
4. Wheat SREY

Which of these are Kharif crops? (b) alternative employment is not

@ 1and 4 available
an
(b) 2 and 3 only (c) marginal productivity of labour
is zero
(c) 1,2 and 3
(d) 2,3 and 4 (d) productivity of workers is low

65. “Climate is extreme, rainfall is scanty
and the people used to be nomadic
herders.”

The above statement best describes 1. The Council of Ministers in

which of the following regions? the Cen'tre shall be collectively
responsible to the Parliament.

68. Consider the following statements :

(a) African Savannah

) 2. The Union Ministers shall hold
(b) Central Asian Steppe the office during the pleasure
(¢) North American Prairie of the President of India.

(d) Siberian Tundra 3. The Prime Minister shall

communicate to the President
66. Consider the following statements : about the proposals for

1. Inflation benefits the debtors. legislation.

2. Inflation benefits the bond-

holders. Which of the statements given

above is/are correct?
Which of the statements given

above is/are correct?

fa) 1 only
(@) 1 only
(b) 2 only (b) 2 and 3 only
(c) Both 1 and 2 fc) 1 and 3 only
(d) Neither 1 nor 2 (d 1,2 and 3

B-BRO-M-HTA/46A , a8
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64. PrafaRaa woel w fa=ar i .
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(b) Faw 2 3 3
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(b) WA R RY
(c) utt st Rardt
(d) TR g

66. Frafafaa st w famm fifeg :

1. gEefife st #t amw agard )

2. WEEHfa Sfve-gRE H A g
R

9w FYAT § § FA-A1/F |1 /R
(@) ¥4 1

(b) Fad 2

) 13 23Ht

[d @12
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67. W=uA R & qETga: 3 B @

() & T G A ISR T E

(b) A=fRAF VIR 9oy 7 R

(c) = & dimr Iearewar A R

(d) #fet Y Ieareear A }

68. Fr=fefea =t w fa=ar $ifvm .

1. %% % ufufwg wag & wfa angfes
&9 @ Iaer gt

2. g Wit e & Ugefa ¥ wER-
i1 92 UR9 FH4h |

3. fafy-fefor 3g wam & am #
Ty, Tgafa i gfa wm)

I wuet § A PA-T1/Q T ¥/E7
(@ Fa&1
(b) Faw 2 3 3
) Faa 133
d 1,23M3
[P.T.O.
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69. Consider the following statements :

1. National Development Council
is an organ of the Planning
Commission.

2. The Economic and Social
Planning is kept in the
Concurrent List in the
Constitution of India.

3. The Constitution of India
prescribes that Panchayats
should be assigned the task
of preparation of plans for
economic development and
social justice.

Which of the statements given
above is/are correct?

(a) 1 only
(b) 2 and 3 only
() 1 and 3 only

(d) 1,2 and 3

70. Consider the following statements :

1. The Chairman and the Deputy
Chairman of the Rajya Sabha
are not the members of that
House.

2. While the nominated members
of the two Houses of the
Parliament have no voting right
in the presidential election,
they have the right to vote in
the election of the Vice
President.
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Which of the statements given
above is/are correct?

{a) 1 only

(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

71. With reference to National Legal
Services Authority, consider the
following statements :

1. Its objective is to provide free
and competent legal services
to the weaker sections of the
society on the basis of equal

opportunity.

2. It issues guidelines for the
State Legal Services Authorities
to implement the legal
programmes and schemes
throughout the country.

Which of the statements given
above is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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69. fr=ferfaa syt w fa=n Sifv .
| 1. T fawm ufteg, 99m1 emm @
T A R
2. e v g g Y 9Ha
& wfqum i guadi g=t § @ ™
2l

3. ¥Rd & gfaur R @ s@ t 5
YaEal wt Inffe fawm  w
gt ™ @i A aE W #
|- FEWR e s =nfee)

I wyel B @ FA-a1/ wd /87
(@) Fad 1

| | (b) Faw 2 3k 3

| (c) ¥aa 133

(d 1,23M3

70. fr=fafes Fut | = fifsw

1. TSY @91 &1 GWAfd q91 I9Ewfd
39 WA & "o A€ B

2. wafh Tgdfa & Fatea § @@g &
24t @edl & wAHa Feel B AaeH
F B3 After T8 B, I
Jrgefa % fafem & wwem &
arftrpr g 2
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I HyAl § @ wE-|1/3 qé /87
(a) Fa€ 1

(b) ¥ 2

c) 13 2aH

d F@1amad2

71. W fafts S wfteor & w=d #,

fr=fefias wuat © fa=m Hifsa .

1. TO W GIH IJETU F YN T
AN & FHGR 1 6 F:ew @
e faftes dard I9eey & 21

2. Tg - ¥ fafts wefwEl sin
et # @ w9 F fow oS
faft @ wftewon = fda s
T 2l

394 oAl § § -1/ T /R
(@) Fa4 1

(b) Fad 2

(c) 1323

(d Fa@13AMMAA2

[P.T.O.
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72. During a thunderstorm, the thunder
in the skies is produced by the

1. meeting of cumulonimbus
clouds in the sky

2. lightning that separates the
nimbus clouds

3. violent upward movement of
air and water particles

Select the correct answer using the
codes given below.

(a) 1 only
(b) 2 and 3
¢/ 1and 3

(d) None of the above produces the
thunder

73. Consider the following pairs :

Tribe State
1. Limboo (Limbu) : Sikkim
2. Karbi : Himachal
Pradesh

3. Dongaria Kondh : Odisha

Bonda : Tamil Nadu

Which of the above pairs are
correctly matched?

(a) 1 and 3 only
(b) 2 and 4 only
(¢ 1, 3 and 4 only

(d 1,2, 3 and 4
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74. Consider the following liquid assets :

1. Demand deposits with the
banks

2. Time deposits with the banks

3. Savings deposits with the
banks

4. Currency

The correct sequence of these
assets in the decreasing order of
liquidity is

(a) 1-4-3-2

(b) 4-3-2-1

(c) 2-3-1-4

(d) 4-1-3-2

75. In the context of Indian economy,

‘Open Market Operations’ refers to

(a) borrowing by scheduled banks
from the RBI

(b) lending by commercial banks
to industry and trade

(c) purchase and sale of
government securities by the
RBI

(d) None of the above
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72. dfEq-gen F dE, W F afeq s/ 74, fefofea @@ Rt w® fEw

5% g I A /87 #hifs .
1. e § Hye-adf 29t & fiem @ 1. ot & g "N S
2. dafeq A, S qudEl i gug F @ 2. =1 ¥ ym wafus s
¥oq A
4,
R R w Fg2 W WM W T IW
Fhu ¥ vt #, T % 9e g w
#, Wl g 3
(a) ¥ad 1
) 233 (@) 1-4-3-2
() 13R3 (b) 4-3-2-1
(d) 35w A / 5 +ft afeq senfRa
T c) 2-3-1-4
(d 4-1-3-2
73. Prafafea gut @ famm i
TR LG
1. forg ;T 75. vl s & g #, ‘gen aew
2. il . Temmaw wdm wareA fed fafde #an &7
3. Shfmraw ;. 3fEm
4. drE . e (a) g ¥t g0 RBI & F0 &
R ?
o g 4 3 90-3 e e ¥ b) R & T T s s
(a) ¥Faa 1 AR 3 ot W o 3
(b) Faam 2 3 4 () RBI 3@ W& shnffdi & %4
R fasa
c) Faa 1, 33N 4
@ 1,2 334 (d) 3T H A B T
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76. Priority Sector Lending by banks in
India constitutes the lending to

(a) agriculture
(b) micro and small enterprises
{c) weaker sections

(d) All of the above

77. Which one among the following
industries is the maximum
consumer of water in India?

(a) Engineering
(b) Paper and pulp
(c) Textiles

(d) Thermal power

78. To aobtain full benefits of
demographic dividend, what should
India do?

(a) Promoting skill development

(b) Introducing more social
security schemes

(c) Reducing infant mortality rate

(d) Privatization of higher education

B-BRO-M-HTA/46A
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79. In the context of cultural history of

India, a pose in dance and
dramatics called ‘Tribhanga’ has
been a favourite of Indian artists
from ancient times till today. Which
one of the following statements best
describes this pose?

{a) One leg is bent and the body is
slightly but oppositely curved
at waist and neck

(b) Facial expressions, hand
gestures and make-up are
combined to symbolize certain
epic or historic characters

(c) Movements of body, face and
hands are used to express
oneself or to tell a story

(d) A little smile, slightly curved
waist and certain hand
gestures are emphasized to
express the feelings of love or
eroticism

80. Annie Besant was

1. responsible for starting the
Home Rule Movement

2. the founder of the Theo-
sophical Society

3. once the President of the
Indian National Congress

Select the correct statement/
statements using the codes given
below.

fa) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3
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76. YRa # FH g0 wufE &% FORE @

aread fraen o 2R |/ 7
(a)

(b) Y (ATEH) T BR T
(c) Fdw

(d) ITE Wit

77. wra # frafafgs samt # @ $9-a1 @,

arft 1 wER 781 I ’7
(a) RIS

(b) FTT T TR

(c) T&rEm

(d) qm wRE

78. SHIfRAE AW F Qf AN F IW FA F

1 s = T e =SifRe?
(@) FOwa ™ F AeRTe

(b) 3 it awfiE gan Asas
&1 TN

(c) firg geg < & &t

(d) = e =1 Psfeo
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79. N F WiEHS IaEw & v #, 7@ @

TE-F A g @ B’ @
I R, WA FE ¥ 9N d& wwdE
Ferent w fefim @ ) FefoRea #
¥ FH-VI T HU4 W G F wa@H §9
@ aftfa s 87

(@) TE dig Ag s R 3k 2w A
firg faratia R & #R @ fa1 W
IF Y 9 R

(b) Ta e, Tt e
Hfaeg wErHE Aval YR 9
) Tdldeas ®9 ° qh A & g
WAt A et §

(c ¥\, T@ @ T H A w owEm
WA F ANEE T AYAT T HYT
Fed & forn forn men 2

d) W faf, 4t o R @ Ffaw
Teagzalt W e & s R, W wE
TR F syt F: e =
% fog

80. T e

1. BW & ARET Y FH & A
Iuterdt o

2. fraaiteea aegdt H genfie o

3. T e FW N @ TN
aree of

MR R g & o =W
HYA /F B AT

(@) Fad 1

(b) Faw 2 3R 3
) Faa 133
d 1,233

[P.T.O.
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81. The Ilbert Bill controversy was

related to the

(a) imposition of certain
restrictions to carry arms by
the Indians

(b) imposition of restrictions on
newspapers and magazines
published in Indian languages

(c) removal of disqualifications
imposed on the Indian
magistrates with regard to the
trial of the Europeans

(d) removal of a duty on imported
cotton cloth

82. A rise in general level of prices may
be caused by

1. an increase in the money
supply

2. a decrease in the aggregate
level of output

3. an increase in the effective
demand

Select the correct answer using the
codes given below.

(@) 1 only

(b) 1 and 2 only
() 2 and 3 only

(d 1,2 and 3
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83. Which one of the following groups
of items is included in India’s
foreign-exchange reserves?

(a)

(b)

(c)

(d)

Foreign-currency assets,
Special Drawing Rights (SDRs)
and loans from foreign
countries

Foreign-currency assets, gold
holdings of the RBI and SDRs

Foreign-currency assets, loans
from the World Bank and SDRs

Foreign-currency assets, gold
holdings of the RBI and loans
from the World Bank

84. Which one of the following is likely
to be the most inflationary in its
effect?

(a)
(b)

(c)

(d)

Repayment of public debt

Borrowing from the public to
finance a budget deficit

Borrowing from banks to
finance a budget deficit

Creating new money to finance
a budget deficit

85. Supply of money remaining the
same when there is an increase
in demand for money, there will be

(a)
(b)

(c)

(d)

a fall in the level of prices

an increase in th;.e rate of
interest

a decrease in the rate of
interest

an increase in the level of
income and employment
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81. o=d faw faam frad wafta @? 83. wrRa # fRwt g mfam ffw #
freafofga & & *F-w1 & #eEE

(a) VR ER1 ERAR A TR W FD wfrfer &7
whrat 1 @y R (o) feft gz wfwfa, fad smec

PR (o FHo 3Wo) w1 foRw

(b) I wet # yelm @ T L
gaEn-wEt o wfemed w wfoey () R g Ry, s fod &
e s T uhe @ an R smEw

AR (Tgo do 3Ro)

() T % il & wredt A g F © Feh gz whemfy, Re & 3
% for st =it o e W an fiw amEw R
I H T A (T@o Fo o)

(d) TRt gx shweafa, vt fod &

(d) sTRE g TG T T T B U R S
&1 AT S

84, frafafea d & e & =1 9 g &

waiftes wHhifwdt 83 6 wowmE 27
82. YW Ha-wR # agiad Frafafea & (a) < 0 Y TP

1. =AqE I FOMEH
2. IEA & @ &R A froae (¢ w2 oR ¥ R ¥ R &1 2
3. wwrh whn F 3f& FEH

(d) sz R ¥ e & e g =
9 Ry m f& &1 w@Wm W/ TN g
Tl

85. 3= I qfdf Fureq ®X W IR z=@ A w0
(a) Faw 1 ﬁi&m%,?ﬁ

(@) Fma-wr § firae 3n seft

(b) Faa 132

(b) == H R # i A seht
(c) Fam 2333 (c) == WA @ ot

d) 3@ M Ivm & wW A IR @
@ 1,233 Euil
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86. Fruits stored in a cold chamber
exhibit longer storage life because

studyfry.com

89. Consider the following phenomena :

1. Size of the sun at dusk

(a) exposure to sunlight is 2. Colour of the sun at dawn
prevented 3. Moon being visible at dawn
(b) concentration of  carbon 4. Twinkle of stars in the sky
fhc\.:nde in the environment S. Polestar being visible in the sky
is increased
s Which of the above are optical
(c) rate of respiration is decreased illusions?
(d) there_ .13 an increase in (@ 1,2and3
humidity
(b) 3,4 and 5
87. Consider the following fauna of fc) 1,2 and 4
India : (d 2,6 3and 5
1. Gharial

90. Rainbow is produced when sunlight

2. Leatherback turtle falls on drops of rain. Which of the

3. Swamp deer following physical phenomena are
ible for this?
Which of the above is/are reepnmaihe Tor T
endangered? 1. D_lspersmn
2. Refraction
(@) 1 and 2 only 3. Internal reflection
(b) 3 only Select the correct answer using the
(c) 1,2 and 3 codes given below.
(d) None fa) 1 and 2 only
() 2 and 3 only
88. Ball bearings are used in bicycles, (c) 1 and 3 only
cars, etc., because (d) 1,2 and 3
(a) the actual area of contact
between the wheel and axle 91. Many transplanted seedlings do not
is increased grow because
(b) the effective area of contact (a) the new soil does not contain
between the wheel and axle favourable minerals
is increased (b) most of the root hairs grip the
c) the effective area of contact new soil too hard
between the wheel and axle (c) most of the root hairs are lost
is reduced during transplantation
(d) None of the above statements (d) leaves get damaged during
is correct transplantation
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86. Yd #E § wgia S ifus a93 o
Tord &, Fifh

(@) T H At 7 vg f et R

) (b) Wt # wEA ERaEETEs
qrEa ag1 @ S R

(c) waA = T & e R
(d) ¥TEdl 9g I &

v 87. fafafiaa v wfimma w  fa=R

Hf
1. ufea=
2. widE g (SATEF TH)

3.
’ T i @ -/ v 2/

(@) Faa 132

(b) ¥ 3
' (c) 1,23M3
| @ w7

l 88. Tifha 3 w7 FTA-|RT F oM
g R, FifH

(o) W i gt F = wed =
Tt &9 7g 1

| b) e kgt F @ ded @
e & &g S g

) e 3 gt ¥ @9 wwd w=
gyTet &= g2 Sran 8

(d) 3T i # A A ot w7 R
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89. Frafafaa aftgemet w faar fifs -
iy & g &1 s
FuEE § gl W

ST § S # e
e | At @ femfeamn

. T # gaar # e

g # ¥ FA-7 giwm &7
(@ 1,233
(b) 3, 435
c 1,234
(d 2,335

bk Wb~

90. ¥ ¥y aui # & = fiweht R}, @ U
T 21 W& forg Preafefaa # @ SR-d@
siifess gftaemd fomdam &7
1. afEom
2. IqEaA
3. AR WEdd

= Ru T gz & W@ W FdH IW
g

(a) *=a 1 3R 2

(b) Faa 2 3R 3

(c) Faa 133

d 1,23M3

91. % yfeiftm e afem 7df aqa €, wif*
(@) & 3 52 @lw el 7 wa &
(b) ¥fteiw g W 7 O = afuw
TEdt ¥ TE o §
(c) wRRgu & dnm srftrwin q@ O e
ISR
(d) widgo ¥ dw ofval sfoa @
it &

39 [P.T.O.
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92. Economic growth in country X will 95. The known forces of nature can

94. Which of the

necessarily have to occur if

(a) there is technical progress in
the world economy

(b) there is population growth in X
(c) there is capital formation in X

(d) the volume of trade grows in
the world economy

93. Which of the following statements

is/are correct?

1. Viruses lack enzymes necessary
for the generation of energy.

2. Viruses can be cultured in any
synthetic medium.

3. Viruses are transmitted from
one organism to another by
biological vectors only.

Select the correct answer using the
codes given below.

fa) 1 only

(b) 2 and 3 only

fc) 1 and 3 only

(d 1,2 and 3

following leaf
modifications  occurs/occur in
desert areas to inhibit water loss?

1. Hard and waxy leaves
2. Tiny leaves or no leaves
3. Thorns instead of leaves

Select the correct answer using the
codes given below.

fa) 1 and 2 only

(b) 2 only
fc) 1 and 3 only
(d 1,2 and 3

B-BRO-M-HTA/46A

be divided into four classes, viz.,
gravity, electromagnetism, weak
nuclear force and strong nuclear
force. With reference to them, which
one of the following statements is
not correct?

(a) Gravity is the strongest of the
four

(b) Electromagnetism acts only
on particles with an electric
charge

(c) Weak nuclear force causes
radioactivity

(d) Strong nuclear force holds
protons and neutrons inside
the nucleus of an atom

96. The efforts to detect the existence

of Higgs boson particle have

become frequent news in the recent

past. What is/are the importance/
importances of discovering this
particle?

1. It will enable us to under-
stand as to why elementary
particles have mass.

2. It will enable us in the
near future to develop the
technology of transferring
matter from one point to
another without traversing the
physical space between them.

3. It will enable us to create
better fuels for nuclear fission.

Select the correct answer using the
codes given below.

(a) 1 only

(b) 2 and 3 only

(c/ 1 and 3 only

(d 1, 2 and 3
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92. x ¥ % anffw aafs afard a0 @ 2h,

IR

(a) Tu srdegaen & awhd Wiy g
3

b) X3 Sween ghe ot }

© X% ¢h-Fmfor g 2

(d) Tu afemen #§ =R f oAEn
wqdt ®

93. fr=fifan wwdt & } ¥-w/2 v /&7

1. fuopdt & sefsam & fog
HEEE AT T R

2. it #1 fedft ot wveifta wmem
% waftfa e s wwan R)

3. Tl 1 @ e & @ e &
HEARY ¥ad FaH GaEH g @
wran R

MR Ry M g & W W @ IN

T

(a) %= 1

() Fa 23R 3

c) Faa 133

(d 1,233

94. WRYE A § I W B U4 » forg

fafafea # @ f-w/8 wof saw
gian ¥/8a &7

1. 3R wE Aft quf

2. @y qof vy qoidan

3. vl i IR HR

M Ry & & W@ W @ N
g

(a) F¥a« 132

(b) ¥ 2

fc) ¥aa 133

d 1,23K3
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95. WHfd & ya «@t ® w) i 7 ool

a1 wwar @, W & T, v
TaFd, Faa TR T@ iRy
TP T % = #, PR
FE § ] -6 0 @@ T 0

(@) ToE, I & g waw R
b) fge-geea fré gy mdw T=
Foil W fma wan R

() T TR @ Reenfma &
FRU 3

(d) waa T a9 WY F F=F °
el 3 =it i afta R @
2

96. fme ardia # fra Al w0 & AR &

wgE % fow FR M e @mER
el 3 @ 8w R de W
e &7

1. 78 & 98 e § neR W 6 e
Fuit % wefa w4t g

2. ug frwe wiisy # 7t @ fgadt &
e F Ifw Fow & wm /A

o = g @ @t g o wend
AR F@ A i ReRe
A ¥ weg :m|

3. 7® @t TP fravea & fag am
R I A | WER HON|

MR Ry ™ - & W W @l W
il

(a) ¥4 1

b) Fa 23R 3

(0 ¥aa 133

d 1,233
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97. Mycorrhizal biotechnology has been 99. The national income of a country for
used in rehabilitating degraded a given period is equal to the
sites because mycorrhiza enables
the plants to fa) total value of goods and
1. resist drought and increase services produced by the

absorptive area nationals

2. tolerate extremes of pH

(b) sum of total consumption and

3. resist disease infestation . .
investment expenditure

Select the correct answer using the

codes given below. () sum of personal income of all
individuals

(@) 1 only

(d) money value of final goods and

(b) 2 and 3 only services produced

{0 1 and 3 only
(d) 1,2 and 3 100. Which of the following grants/grant

direct credit assistance to rural

98. Who among the following constitute households?

the National Development Council? 1. Regional Rural Banks

1. The Prime Minister 2. National Bank for Agriculture

2. The Chairman, Finance and Rural Development

Commission
3. Land Development Banks

3. Ministers of the Union Cabinet

4. Chief Ministers of the States Select the correct answer using the
codes -given below.

Select the correct answer using the
codes given below.

fa) 1 and 2 only
fa) 1, 2 and 3 only

(b) 2 only
(b) 1, 3 and 4 only

fc) 1 and 3 only
(c) 2 and 4 only

(d 1,2, 3 and 4 (d 1,2 and 3
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97. FaFHA (WFHNEEA) 9 e A

frfipa wwet & qAaieR § 39am | @
T R, iR Fawe & g dwl #

1. @ F Yy F g Ewim &9
wQ H gHE 3 St

2. pH $ fadmedt | w87 +7
AT 37 ST B

3. Qmraa @ yfady A o S
?

R Ry M F& = WM W @ IW
g

(@) FEd 1

(b) awt 2 3R 3
c) Fa= 1333
d 1,233

98. fafafaa & @ =1 wfiw Rem wfug $i
= W §7
1. gy
2. Y, faw amm
3. wdy wimvew & whmm
4, TG % g
R Ry M F & W W E@ IW
T
(@ ¥aa 1,233
(b) Faa 1, 33N 4
) Fw234

d 1,2 334
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99, fdt & ¢ st & fow = W H W

HY

(a) TR g Ienfm gt sk
ot & gt g & O B

(b) Ta INim IR FRw = F A &
o gt

(c) f =frat f Jafes a7 & am
E |

(d) Ieafea sifam axgaeit sl Aameit &
M gea & wer At

100. urfivr ofErt #t Fafafea & @ =9 d@d

o gl wem wan R /wa &
1. &eftg avfio &=

2. FfN ol unfu fwm ¥ fag wia
a5
3. oft fowm &=

R Ry M M | AR IW
L\l

(a) Fae 132
(b) Faw 2
(c) ¥aa 133

d 1,233
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